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PART A — F 9

1. (a) What is a mixed économy?_ ' 1

il s qifs Fie
(b) What is opportunity cost? | N 1

A T B 2

(c) Give one example of complementary goods. 1
AR Q@R G5 Twgel wie |
(d) Fill in the blank : - | . - ' £ 1

PRI R ERISTE] I
AC=AVC+............

(e) What does the average fixed cost (AFC) curve look hk» m Nw\/ 1

ko H ]
TG %8 I8 (AFC) @R Sighe Bzl | jJ\/\/jW _—e 4_,5’
() Give ‘an-example of variable cost. 1
ARSI VR G IR WS | ~ |
2. Mention two central problems of an economy.. 2
- mﬁﬁ"aﬁ 76 (TR e S |
r Q;:‘ L
\ © st
3. Mention any two dctermmants of market demand. 7 e 2

e S Fefieed) mmpﬁ%ﬂw@mzrwm 'ﬂw

4. The total money income of a consumer is M and he spends his entire
money income on the consumption of two commodities, viz. X and Y. The
prices of X and Y are PX and P, respectively. State the equation of his

budget line. P X ~+ F Y oM 2
ITG TSGR WW'M&ﬁiﬁﬁﬁﬁW‘f@Tﬁiﬁ?ﬂmﬁXﬂﬁﬂ Y <& eireies 5w
FEN X GR Y G WA FCA Py @R Py, T (OIS ATTE @A F6240 (eal |
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10.

" Capital (K).

What is marginal rate of substitution ? 2

L]

Mention two determinants of the supply curve of a firm. 2

9% Wﬁi%véma i Rt 775 Sotwie Seard e |

‘Explain the relation between market price and marginal revenue of a price

taking firm. 2
&ﬁw@%ﬁlwﬁmwmm\ﬁﬁwwmaﬂmml

If the total product with 5 units of a variable factor is 55, calculate the
average product of it. If the factor is increased by 1 more unit as a result
of which the total product becomes 60, what will be the marginal product ?

AP=SS/c =] AMP = g g5~ 5 4
ﬁﬁﬁﬁwﬁa%ﬂwsawwwwﬁmﬁﬁwwﬂm =, S NS

Besime W ﬂﬁa—ﬁ"lﬁ%‘vﬂm cﬂﬁ\ 1 Lﬂwan%w @SR TCA Gl BT 60 9T

(T AT T o T2
OR /gt
Explain the conditions for equilibrium of a firm." 4

G0 N ATSHIAT SN <SR! I & |

What is meant by Returns to scale ? Explain the Varlous returns to scale.

. 1+3=4
HEl Afonia 9o [ @i e [ien e Mam afonmeeg, =il S|
OR /g9t
Distinguish between returns to factor and returns to scale. 4

Tesiivaa dfenia ez g Afonies A1y mare |

The production function of a firm is given as Q = QL%' K }é Calculate the

level of output when it employs 25 units of Labour (L) and 16 units of
Yz 14 4
Q= 2,25 1¢ =296 .
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11. The marginal revenue (MR) schedule of a

Production unit is given below.
Calculate the total revenue (TR) and the

average revenue (AR) schedules.
4
G e ez AES ST (MR) S35t Fies ey AR G G =F (TR) <=k o1
SR (AR) SF5T Weffaet =y . ' . -

Q MR TR AR

I 21 2 " 2
2 19-% %0 1.y 20
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41 68 >
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13. State and explain the

14. What is price elasticity of demand ? Explain brief]

I ATFCA R | -
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Explain the implications of the features, “Product differentiation” and
“Selling Costs” under monopolistic competition. | 3+3=6

L}

aepioal et Kedwe — <R Rognedd” ok “Rel em” o it st |

PART B — 4 9

15. (a) What constitute fiat money ? | 1
SO Jw oA B2 :
, (b} What is aggregate supply? 1
AfEE Q@A B
(c) Define involuntary unemployment. ' 1

AR @FER AL e |

(d) What is National Income ? T ans e 1
. GO S F?
(e} Why is post office not considered as bank? ' : 1

S (< PIF ool Ko 2 A

(f) Give one example of accommodating capital flow. = 1

GRIES ‘{ﬁ%ﬂ SRR G5 Guigae wie |

16." Suppose the Net National Product at market price (NNPmp) of a country
1S 31600 crore. If the total indirect tax is 2100 crore and the total amount
of subsidy paid by the government is T80 crore, find out the National
Income of the country. ‘ML/NNFPC = {(b¢D ——i%-l—%:lff?ﬂQ
gal A G0 I AT T SFS SIS TAME (NNPmp) = 21600 I 1 T (G

S ¥ 2100 (R G (G 2% FEw T80 CFifS 7, orifa e i et Fefw -

I Voo : :
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17. What do you understand by the problem of double counting in the context
of the measurement of National Income ? | 2

TSI O 9NN D9 S Sl S IS G 2

18. Dislinguish between induced investment and autonomous investment.
2

wifeters Rt @i wog RGN g Ak orte |

19. Name two sources of non-tax revenue. ) 2

O AGCED 75 GG i AR |

20. Mention two main items of non-plan expeﬁditure of a government budget.
2

.@ﬁﬂaﬁmwﬁﬁ@m ﬁwﬁazr%zmaSm|

21. What is devaluation of currency ? ca 2

YGRSV 12

+22. Define personal income and private income and distinguish between them.
' 2+2=4

JiETe Y G} @RS WEE AR WS IR SIE N AILET orie |

23. If National Income in an economy increases by 31,000 crore as a result
of a new investment (4I) of 200 crore, ﬁnd1out the values of (i) MPC,
and (i} Multlpher (K). ¥ =22Y "-"‘f -5 Kzo— €6, 1~ HPCM/ 2+2=4

[ MPc. Pe= 2012
i 3200 it e RfFcaem (AI) W‘S’?ﬁcﬁ ﬂ—%w@w\sﬂ%wﬁgl 605 i
I AN O (i) MPC &=% (i) @4F (K) 3 S Bl st i) |

24. Explain the relationship between marginal propensity to consume (MPC)
~ and marginal propensity to save (MPS). : 4
efeRr (ot @xefel (MPC) «=% aifis sieen ekere! (MPS) €7 S8 57514 141 FAEN\\

.
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27.

28..

Distinguish between balance of trade (BOT) and balance of payment (BOP).

What is meant by revenue deficit '9 Explain three 1mp11cat10ns of revenue
deficit. 1+3=4

Wsﬁ%wﬁs @wvmmﬁwﬁmmmmﬁWWW|

OR/WW

What are the basic objectives.of a government budget ? — Explain them
briefly.

S AT ST B e — ST I vl |

4

AR e 3 (BOT) @ @rifis Wi RS (BOP) 1 Sz <lidks (s |
OR/w%dt ‘

Differentiate between fixed and flexible exchange rates.

27 @ sifaeTae R g st mane |

Explain the Precautions mneeded to be taken while ca.lculatmg National
Income by expenditure method. 6

R AT ALY GO T MR T 9J2S AGH T FFATOFAIZ. SO R |
OR /9241

Explain the circular flow of income in a simplified economy with two
sectors’'— households and firms..

,‘ ﬂ?ﬁmxwﬁﬁ—ﬁﬁ—%g—ﬂﬁwmﬁmrwwﬁﬁm@ﬂﬂ

T

Briefly explain any four functions of money. 6

@R (7 (@A 5EG T ARCHA A
OR /&2t

: Brieﬂy explain any four functions of the RBL

oo BoS UE (RBI)GF (T ! 51Af6 T Aol i S|
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